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QUESTION 1

What does the statement "Ansible provides idempotent operations." mean? 

A. The result of performing the operation once is exactly the same as the result of performing it repeatedly without any
intervening actions. 

B. The result of performing the operation once is not exactly the same as the result of performing it repeatedly without
any intervening actions. 

C. The result of performing the operation once will not allow the operation to be run again without any intervening
actions to correct the failure. 

D. The result of performing the operation once will not allow the operation to be run again without any intervening
actions. 

Correct Answer: A 

Reference: https://docs.ansible.com/ansible/latest/reference_appendices/glossary.html 

 

QUESTION 2

Which feature of Ansible provides encrypted files to house sensitive data such as login credentials and keys? 

A. Ansible default feature 

B. Ansible Vault 

C. Ansible Galaxy 

D. Ansible Tower 

Correct Answer: B 

Reference: https://docs.ansible.com/ansible/2.4/vault.html 

 

QUESTION 3

Which statement is correct about Python? 

A. The Python interpreter is written using the Visual Basic programming language 

B. Python strictly enforces the use of indentation and white space 

C. Python requires that you manually delete unused objects from memory 

D. Python behavior is influenced by the host OS 

Correct Answer: D 
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QUESTION 4

Which Junos process is responsible for handling automation requests involving the JET API? 

A. mgd 

B. dcd 

C. rpd 

D. jsd 

Correct Answer: D 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/jet-application-interactionwith-junos.html 

 

QUESTION 5

How does YAML differ from JSON in data interchange formats? 

A. YAML supports comments 

B. JSON is language specific 

C. JSON is a superset of YAML 

D. YAML is not indentation aware 

Correct Answer: A 
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